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https://www.100test.com/kao_ti2020/633/2021 2022 CCNA E8 8
0 83 E9 A2 98 c101 633714.htm Which of the following routes
will be used to forward data in a situation where a routing table
contains static,RIP,and IGRP routes destined to the same network
with each set to its default administrative distance?A.The RIP route
B.The static route C.The IGRP route D.All three will load balance.
Selectthebest 1answerll O OO0 0O 0O OO O O RIPO IGRPO
OO0oo00o0oooooooooobooooooonoooa
Dodoooollosoooood® 0000 (Administrative
Distance)” U0 D O0O0O0O0O0O0O0OOO0OOOOOOOOOO
O0oo00o0oooooooooobooooooonoooa
OO0o0000oo0oooooooocoouoboooooon
O staic1IGRPI1I00RIP1200 000 O000OOOO0OOO0ONO
D000 00000BODOOMNOO CCNA Self-Study CCNA
ICND exam certification Guide(Ciscopress,ISBN
1-58720-083-x)-Page 177 100Test U 0 U O O O OO OO OO O
ODO00dodoboddd www.100test.com



